
ADDITION. 11

+ 3 = 12

+ 3 = l;^

+ 3 = 14
+ 3 = 15

13. Add 3's to 50 ; to 100.

'4. Add 3's to 50; commencing with 2, 1.

5. Add 3*8 to 100 ; commencing with 1,——2.

6. A man gave 3 peaches to each of his four children,

>w many peaches did he give to all?

+ 3? 4 + 31

3 cents for

(48)

33232
23123
13321

(52)

31023
31323
41433

(56)

10431
34234
18476

thout naminff
? 4 and 2 make
3 pencil) nam*

(57) (58) (59) (60)

21023 23323 21324 21343
31203 33333 41233 33333
32313 34313 . 43343 31033
45300 50261 12510 41504

(61) (62) (63) (64)

13432 22212 21032 312102
42324 24343 34341 231230
23213 30234 32432 321433
36340 46341 64204 330975

(65) (66) (67) (68)

10210 21034 43213 23433
06123 34123 23433 36133
14332 32433 64333 43633
6354 34234 86343 12367

(69) (70) (71) (72)

21010 32610 52433 23333
42632 02321 62004 32433
23436 14333 23031 23044
89796 76389 97889 87682


